W0 TMYRIDT YR ORI PwITP noon WY AT TINHH My 0BT

19.01.19; 21b (Ay>x73 7322 ¥¥72771) 2 22b (DA2292 Y¥7?)

17100 83 719 mow :DPPD FTIPI PRIV NIR NR PITR PXT) NIHD OR IR NPTH OR 19N DIORD HR VITR W0 .
P 7100 10 779 £2727:12 NYYN TNHARY GRY DY T2Y 77 701 NPT IR NN YY¥IH7 DR INRY) .

25:35 eN12: VN TH2 2PY? T 922 Y310 NN DD TY 7120 92 DY YR NYIN T DR HRIY? 711 39IR KD 19 DY .
Ap 109 73 779 X777 107 PHAR THNR OR) IANAYN YR 29) 9P 1323 RID RPN RY) .

7 2109 82 779 mpw YD RYR KD 222 DR IDYR NR ITR NR MNIDR 7200 DR 908 DR)

N2 7100 83 779 2737 IWRY 2 DHNRYY A2 DPYN) IRA NY NYR N2aWa DR
2 7109 82 779 077271771798 IR NNV AYRT NR NN 9002 TR YR ARID .
0 7109 10 779 07137 TRY 1% ajv 2 9’2 DR 2NN 72 09PN RIR NY 7[’?)3 IR D .

712 2109 719 779 ~7,777:t|;}’rj'7§ N IR DMIXN PIRN DNIR NRYIN YR DN YTIY DIT2Y '?t_ﬂip? n, Ly - I

Y-S N P NV

I Analyzing end of ‘2 mwn — 011p of the yxm
a Mmpi-vianyyi-asperv.l
b  goes free:
i via death of master (as per yTay1—v. 1)
ii ~ via %2y (as per 0% — v. 1 — meaning “for the duration of Yav)
¢ details of nyx:
i tool used: (interpreting v. 2 a — n5721 NIRI/YXINN/NNP)
1 nm 92001 1 - anything that pierces (not a drug)
(a) Reason: he reads v. 2a as "127/01/"21 which includes all, excludes only 1 (drug)
2 11 - only metal tools
(a) reason: he reads v. 2a as 993/018/993 — which includes only things similar to V19 — metal
3 added piece — y¥nn comes to include a large awl, as per v. 3 meaning “the special thigh”
4 note:'2m1 71V suggested that ny’x1 goes through earlobe, but this cannot be for 'non maintain that an Tay
M2 cannot be yx as it renders him a on %»1, which wouldn’t happen in lobe >must be in cartilage
(a) Argument: we don’t allow him to be nmn Y1 is per v. 4 — he must return to his original family station
(b) Question: can 113 T2y be given a 2"v?
(i) 27 yes; YRV - no
1. challenge: 10> may not be y¥11->master may give 5"v, otherwise it would fail due to v. 5
(c) question: may 113 take a IRN N (vv. 6-7)?
(i) 27 yes; YRV - no
1. analysis #1: dispute only regarding 2" nxoa
a. reason: 1t 78" must be permitted, to mollify y7n 1%
b. 27 once it’s permitted, it's permitted
c.  Swmmw after the 15t nxo3, she is a convert — prohibited to 1n3
2. analysis #2: dispute only regarding 1st nx>a
a. reason: 24 nR»a must be forbidden, as she is a convert
b. 27 must mollify 1”n»
c.  Snmww:ifv. 7 cannot be fulfilled, v. 6 doesn’t begin
3. tangent: interpretation of v. 6
d more details of nyxn
i v.5-he must repeat his request
ii ~ 5a-— he must make the declaration while he’s still a slave; 5b — he must repeat it just as his term elapses
1 meaning: at the beginning and end of his last nv11a’s worth of work-time
iii required equality between slave and master to generate ny»~:
both are married (as per vv. 5, 8)
they like each other (as per vv. 5, 8)
one of them isn’t ill (as per 7nY)
question: if they’re both sick, we have 7ny, but not 70y 19 210 —pn
note: v. 8 indicates that the slave must have it at least as good as his master (!)
e note: v. 4 indicates that the master must feed his children and wife
i justification: children may beg for money; wife may work as part of the myTay - 9"np
f  final details of n»’¥1: must be through ear all the way to doorl; door must be standing as per nnim
i homily: why the ear and the door as per v. 9 — the ear that heard v. 9 and the door that testified to the seletion
of Y87’ oy as 'n’s own slaves (at m"121 nan) and sold himself...should be pierced
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